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Vocabulary exercise unit 8 lesson 1-2 

 

2-Choose the best answer from a, b, c, and d 

1- The war has badly damaged the country's …………, so a lot of money 

and efforts are needed to rebuild it.  

a- overcrowding       b-unemployment         c- infrastructure      d- export 

2- The hospital has no…………. beds. 

a-rural            b- vacant                    c-vice versa                     d- graduated 

3- Rural …………… can lead to overcrowding in cities as well as 

deserted country areas. 

a- depopulation          b- infrastructure         c-unemployment   d- export 

3-Fill in the spaces with suitable words from the list: 

(reversed- rural- public services-exports- deserted-socioeconomic) 

1-They found the house ………….. after the death of their grandparents. 

2-Oil is the main …………… of Kuwait. 

3- She.............. the car into the parking space. 

4- He hopes to find a good job in education or ………………………… 

5-More children work in the ……… areas of India than in any other 

country. 

 


